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LINGUISTICS

Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each.

All questions are compulsory.

1. Which of the following is not true ?

(A) Writing is crude representation
of spoken language

(B) Writing contributes to the
standardization of a language

(C) Without writing a language
cannot survive

(D) Written  form  diminishes
variations

2. Arrange the following items in a
sequence of small to larger units and
select the correct answer :

(A) Word, morpheme, sentence,
phrase

(B) Sentence, word, phrase,
morpheme

(C) Morpheme, word, phrase,
sentence

(D) Phrase, morpheme, sentence,
word

3. The book entitled “A Practical
Introduction to Phonetics” is written by
(A) J. Laver
(B) J.C. Catford
(C) P. Ladefoged
(D) D. Abercrombie

4. A diphthong consists of
(A) two vowels
(B) two consonants
(C) avowel changing in quality
(D) avowel and a consonant

5. From the articulatory point of view
the IPA symbol N indicates a
(A) Velar nasal
(B) Uvular nasal
(C) Palatal nasal
(D) Retroflex nasal

6.  The initial sound of the English word
‘teeth’ is
(A) dental
(B) retroflex
(C) palato-alveolar
(D) alveolar

Paper-I1

7.

10.

11.

12.

Sounds having open approximation are
(A) fricatives (B) stops

(C) affricates (D) resonants

Assertion | : In stress the laryngeal
muscles are active.

Assertion Il : In pitch the respiratory
muscles are active.

Codes :

(A) Both (1) and (1) are false
(B) Both (I) and (1) are true
(C) (1) istrue and (1) is false
(D) (I) is false and (I1) is true

Neutralisation refers to

(A) loss of a phoneme in the word-
final position.

(B) loss of a consonant word-
medially.

(C) loss of distinction between two
phonemes in a particular
environment.

(D) a process of sounds becoming
distinctive

Consider the plural forms of the English

words ‘cat’, ‘dog’ and ‘rose’ and say

whether there is the existence of

(A) phonologically conditioned
variation

(B) free variation

(C) different morphemes

(D) morphologically  conditioned
variation

The English word ‘me” is an example of
(A) empty morpheme

(B) bound morpheme

(C) discontinuous morpheme

(D) portmanteau morpheme

The ‘-5’ in the English word
‘players’ represents a/an

(A) inflectional suffix

(B) derivational suffix

(C) post-position

(D) circumfix
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wrar-faa=

ggas — |
W 9 ueTE | ae (50) Sg-fawedd e § | U We Al (2) 3R € | @t IR ST ¥ |

1. Frefeted 5 9 &9 a1 9@ T@i 8 2

(A) &, SeEeT H 9T W
AN T & |

(B) TREA WINT &% HFHIHT H IFNIEH
TATE |

(C) <@ & far 9 fifad =& ®
T & |

(D) foifiad w9 fawsi & &7 FA1 ¢ |

2. FAfeafeEd At #t S ¥ aE el &
%A B TAIET 3 Wl SW B A
FHITT -

(A) =, TH, 961, 9%
(B) dH, vIs, 4R, WA
(C) whm, 3=, U8, I
(D) TR, ©UH, 9, I

3.  “T Ufeshel TS g hiHCH” AT
T ferdl & 2
(A) ST
(C) T wifewie

(B) I HHS
(D) S TeRshTSI

4, TR TERUEAE
(A) TR
(B) T &ESH
(C) T H TuIeHs uRad
(D) TS &R 3 TH &5H

5. IR &I 3T ¥ 3ME W T etk — Fearget
N fr=tetEd 1 gus €
(A) E AT AR

(B) AfcisTgaa e

(C) drersd g
(D) W= e
6. S 9% ‘Teeth’ i URfE @i &
(A) = (B) T
(C) de=masd (D) o
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7.

10.

11.

12.

ferge Frepeardt (smiterdiaem) eafrlt et &
(A) et (B) &ut
(C) To¥I-werst (D) 3R

Ao | . T H HhA
YT |l Tl € |

sfmem Il : QR § o miEumeEt
fera &t € |

ETE

(A) (1) 3R (II) T TS & |

(B) (I) 3R (II) I W&l & |

(C) () TEI& A () T ¢ |

(D) () TToid & 3R (1) TEr & |

ffareterTor @ dred &

(A) v=sid feafd § ueh @i %1 elig

(B) II% % WA H U o H olld

(C) fomiv aramereT & 31 Wil & s
% 3R HT T

(D) =afar % 37 9 &l i Uik

TS 91T “cat’, ‘dog’ 3R ‘rose’ W
frer #T R ademer &
Tfatad 5§ feraept fefd & 9

(A) TR aufdetd fods

(B) WK uREeH

(C) fafr= wium

(D) wuHT Tufastd favea

TS o1sg ‘me’ F=fafad & 9 fohaen
IR & 2

(A) T s um
(C) orgad g

(B) 5 ®UH
(D) EYE ®UH

TS wIsg “players’ ® ‘s’ FAfctfEd
T Vi -ITeel el & ;

(A) TUEREIRE T

(B) SIS T@d

(C) w&

(D) THHTEFT
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13.

14.

15.

16.

17.

Assertion | : The English word
‘sing” belongs to an open
lexical content word class.

Assertion Il : The English word
‘sing” belongs to a closed
function word class.

Codes :

(A) Both (I) and (1) are true.

(B) Both (I)and (Il) are false.

(C) (D istrueand (Il) is false.

(D) (I) is false and (1) is true.

The maxims of conversation in co-
operative principles are introduced by

(A) Breal
(B) H.P.Grice
(C) Labov

(D) Roger Bell

Any property or quality connotated
by a word, phrase or other symbol,
contrasted to actual instances in the
real world to which the term applies
(A) Intention

(B) Denotation

(C) Extension

(D) Conception

Based on the componential analysis
identify the conceptual meaning of
the word “boy”.

(A) [+ Human], [+ Male], [+Adult]
(B) [+ Human], [- Male], [+Adult]

(C) [+ Human], [+ Male], [-Adult]

(D) [+ Human], [- Male], [-Adult]

In which work Chomsky has

originally introduced the

semantically nonsensical sentence

“colourless green ideas sleep

furiously” ?

(A) Logical structures of Linguistic
Theory

(B) Current issues in
theory

(C) Aspects of the theory of syntax

(D) Syntactic structures

linguistic
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18.

19.

20.

21.

22.

23.

Select the correct order of the books
according to the year in which they
were published.

(i)  Semantics

(it)  Structural Semantics

(iii) Semantics Volume Il

iv) Semantic structures

5 B 8%%?5:;%3
SRR

What is the presupposition of the

following conversation ?

(i) John : Are you able to bring
Harry along ?

(if) Peter : That will be splendid.
On our way, we shall pick up
the drinks.

(A) Both John and Peter know who
Harry is.

(B) Both have an idea of the drinks

(C) They have the idea from where
to bring them.

(D) They do not know Harry
exactly.

Read the following conversation by

Xand.

X : My present situation is more of
heaven on Earth.

Y : Indeed, but to think that time
changes yesterday is amazing.

What conversational maxim s

seemingly violated by X and Y ?

(A) Maxim quality

(B) Maxim of manner

(C) Maxim of quantity

(D) Maxim of relation

Transformational Grammer is the
theory of

(A) C.F.Hockett (B) K.L.Pike
(C) Noam Chomsky(D) E.A. Nida

Minimalist programme has
levels of representation.

(A) OneWord (B) Two Word

(C) Three Word (D) Four Word

The participants of the action are
called

(A) Predicate
(C) Theme

(B) Arguments
(D) Goal

S-31-13



13.

14.

15.

16.

17.

Afieperm | SST 915 ‘sing” IR
I T W Held § |

arfirpere 11 : 31T oIsg “sing’ Gifad
TR IIeE o © et § |

ETE

(A) (1) 3R (1) IH T E |

(B) (1) 3 (11) THI TeAa € |

(C) () TEI& A () T ¢ |

(D) () Toid & 3R (1) T & |

TehIar fagid | ardiena s gfed

o frefetEa § | e @i 2
(A) T

(B) wadl wmed A

(C) e =

(D) IR IAA

el 31, UF A T Uh-raed
Tifed 3 arkdiaesh HgeR Sd & o7
% fowdia & @ar &, 5 efarad &
Y G ST ST
(A) I
(C) fa=r

(B) daree
(D) EehouT

TIHE fITATUT & SER W ‘hoy’ I
F  GhoUAHE T I IR
FHITT

(A)  [+#FE], [+ 7], [+ 79%=h)

(B) [+#Md], [- %], [+ TT%F]

(C) [+=ma], [+ 7ed], [- aa%F]

(D) [+#mE], [-7e9], [-=5%=]

fFg Ffa o dgw 4 “OfeRE ERa

R TTEEen B Wi &7 AR

Y= W gite I R e F gl ®Y

T Ty o & 9

(A) wEHT I 3 foraies
AR

(B) e 9 o feiftafes® et

(C) 3T 3 T &R T [y

(D) s TFR
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18.

19.

20.

21.

22.

23.

frfafed qedsl & ueERE av &
3TIAR el oA T TF DT ;

(i) dmfesy

(i) TR AT

(iii) dHfesa aegm - 11

(iv) dmfes TR

(A) (i), (iii), (i), (iv)

(B) (i), (i), (iii), (iv)

(C) (), (iii), (ii), (iv)

(D) (iv), (i), (i), (iii)

TATAEd ST T qaiA 91 § 2
(i) S T T T W &
AT T 2
(i) deX : IF 9gd 31T W, T

T g9 T o o |

(A) S R dieX SHT & = ST o |

(B) 3 fgh ot r = & |

(C) 3= = o1 T feob wet @
AT ST |

(D) ora | a &4 i & S & |

X 3R Y & FAfaiad s =i uieu

X : W o fefd gedt W w9
FRE |

Y ¢ ﬁﬂi’b’, W@%ﬁv_@ﬁﬁng
1 IR AvEdSHe B € |

AT Heet i G glorT 1 X R Y

GRT TeeTeT: Soeier (ohar 71T & 2

(A) e 1 ToreT

(B) forermR =t gier

(C) =T =t gera

(D) Heet ot GlerT

THOROTRe S0 Ffarea § 9
foraemt fagia € 2

(A) TiUE e (B) HUA fush
(C) “mdm=h (D) IU AEe
SIFIH HTSHH o TREAIRI0T % T el &
(A) TH oS (B) T ¥
(C) d= v (D) TR IS

Hrd § TR % e ©

(A) fauz (B) @

(C) e (D) A
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24,

25.

26.

27.

28.

29.

30.

Theta theory assigns
(A) Subject (B) Object
(C) Thematicroles (D) Verb

Choose the correct year of
publication of the book ‘Aspects of

the theory of syntax’.

(A) 1964 (B) 1965

(C) 1957 (D) 1978
Assertion | : Polysemy refers to

cases where a lexeme has more
than one meaning.

Assertion Il : Chip can mean a piece
of wood, a food item or
electronic circuit.

Codes :

(A) (I) is correct, but (I1) is wrong.

(B) Both (I) and (1) are wrong.

(C) Both (1) and (1) are correct.

(D) (1) is wrong, but () is correct.

The linguistic convergence between
and among typologically distinct
languages is known as

(A) Sprachbund

(B) Aryanization

(C) Dravidization

(D) Genetically Related

The hierarchy of number of speakers

recorded for the four dominant

family of languages is

(A) Indo Aryan, Dravidian, Austro
Asiatic, Tibeto Burman

(B) Indo Aryan, Dravidian, Tibeto
Burman, Austro Asiatic

(C) Dravidian, Indo Aryan, Tibeto
Burman, Austro Asiatic

(D) Austro Asiatic, Indo Aryan,
Dravidian, Tibeto Burman

The official language of Meghalaya is
(A) War (B) Mon-Khmer
(C) Khasi (D) Nicrobarese

“Nihali”  which has some 2000
speakers in the Indian State of
Maharashtra is generally regarded as
(A) Creole (B) Pidgin

(C) Isolate (D) Artificial

Paper-I1

31.

32.

33.

34.

Match the item in List — | with List —
Il and select the correct answer from
the codes given below :
List -1 List—11
Retroflexion i. Brahmi, Garo,
Khasi, Assamee
Absence of i1i. Hindi-Urdu,

Retroflexion Punjabi, Tamil,
Malyalam
Aspiration iii. Hindi-Urdu,

Punjabi, Marathi
Loss of voiced iv. Punjabi

Aspirates
Codes :
a b c d
(A) i i ii iv
B) i i iv i
Q v
D) i v i i
Assertion 1 : All South Asian

languages except a few are
verb final languages.

Assertion Il : “Khasi” is a verb-
medial language.
Codes :

(A) (1) is true and (I1) is false.
(B) (I) is false and (1) is true.
(C) Both (I) and (I1) are true.
(D) Both (1) and (I1) are false.

The MIA geminates (- cc —) were

reduced to single consonant ;

(A) With compensatory
lengthening of the preceeding
vowel, with a few exceptions.

(B) Without compensatory
lengthening of the preceeding
vowel.

(C) With change of the vowel
quality.

(D) Without change of the vowel
quality.

Sound change in which a vowel is
fronted under the influence of a following
front vowel or glide is known as

(A) Assimilation

(B) Umlaut

(C) Palatalization

(D) Labialization

S-31-13



24,

25.

26.

27.

28.

29.

30.

2T fogid g e &
(A) i (B) =
(C) ==ad qymer (D) fwam

‘AOFT HE T AN A Ry
TF TEIF % Fel YR g9 FH T=—T
FHIAT ;

(A) 1964 (B) 1965

(C) 1957 (D) 1978

AfHYT | Tg-eihal ¥ arad uH
AW § €, STl Wi B &
T I A B § |

atfeper 11 ; fao @ e & U oehet
THET, Th @I TS AT Telaei-sh
e |

%

(A) (1) &I & AR (11) TeAd & |

(B) (1) 3 (11) TH TeAd € |

(C) (1) 3R (1) I W&l & |

(D) (1) TTeid & R (11) et & |

WU gte ° = vroret & &

IO SAEROT St Fad &

(A) Trpeg

(B) STRIERIOT

(C) sfrgrmur

(D) SRS €9 | Tag

IR U@ 9 URAR & ToiEas -

IO shi AT T UShH &

(A) TSt sfas,  STRgI-uREmRE,
Tqesrar-st

(B) Eei-31, gforg, fdesrat-am, s
e

(C) sforg, Tei-21mal, foesdi-adl, 3i-
e

(D) STRSI-URMEE, T, g,
INEERIESE)

TETTT ! JSTHIT &

(A) = (B) AH-EW

(C) @t (D) -hRERE

IRA & WeRTE T § “Terell’ am &
AT 2000 AT § SE QHEM:

T ST &
(B) Tyerm

(A) i
(C) U= (D) Fom

S-31-13

31.

32.

33.

34.

gt — | wf W] @ g — 11§ gAferd

SHIMT 3T A= KT T F2f § Tl IHW
T TIT BT :
= - | =t - 11
a. Uiqated i, SR, T,
T,
b. wiaawa  #r i, &-sg, e,
VT aHe, Ao
C. TR iii. &<, 3%,
YSTTel, FE
d. TEY  TEWOT jv. oSt
N AT
FHE
a b c d
(A i i i v
B i Qi v il
) iv i i
(D) i v i i

AfWHYT | - FB et & fgar wf
e |

Afipe= |1 ; ‘@ U fohar qeg oo
T

ETE

(A) (1) W& & 3R (1) T ¢ |

(B) (I) T&id & 3R (II) Wel & |

(C) (1) 3R (1) THT W & |

(D) (1) 3R (11) TH T € |

THIMEY fged (—cc—) & Uehel ofo o

T feRar T

(A) FB FUERI Ged @ @R &
TR SIETRRT |

(B) U8 TR & UARSH IHEHT &
fomm

(C) TR & URad— |
(D) TR & URad & fomr

TN A kA, NEH T a3

@R 1 fagd & uvE § U W@ siied
fepa T &
(A) TR (B) aayfa

(C) dmeme=er (D) ST
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35.

a.

b.

C.

d.

36.

37.

Match the items in List — | with List
— Il and select the correct answer
from codes given below :

List—1 List— 11

Aphaeresis 1. Loss of one or more
sounds  from the
interior of a word

Syncope ii. Loss of one or more
sounds from the
beginning of a word

Apocope iii. Loss of one or more
sound from the end
of a word

Haplology iv. Elimination of a
syllable when two
consecutive identical
or similar syllabus
occur.

Codes :

a b C d

(A) i i iii iv

(B) iii i [ iv

C) iv i ii iii

(D) i ii iii iv

In a sound change whereby

rearranging of sound or syllables in a
word or of words in a sentence takes
place is known as

(A) Assimilation (B) Metathesis
(C) Lenition (D) Elision

Match the items in List — | with List
— Il and select the correct answer
from the codes given below :

List—1 List— 11

Lenition i. Sound changes that
alters consonant making
them sonorous

Epenthe- ii. Addition of one or more

Sis sounds especially to the
interior of a word

Elision iii. Omission of one or more
sound in a word or
phrase

Assimi- iv. A phonological process

lation whereby one  sound
becomes more like a
nearby sound

Codes :

a b C d

(A) i ii iii iv

(B) iv i ii i

(C) iii i [ iv

(D) ii i iii iv

Paper-I1

38.

39.

40.

41.

42.

Match the items in List — | with List
— Il and select the correct answer
from the codes given below :

List— I List—11
a. Linguistic change i. Language
planning
b. Language in mind ii. Ethno-
linguistics
c. Languagein iii. Historical
culture linguistics
d. Conscious and iv. Psycho
deliberate change linguistics
of language
Codes :
a b C d
(A) i v [ ii
(B) i i v i
(C) ii iv il i
(D) iv i i iii

The term sometimes used for the
high prestige variety is

(A) Dialect (B) Acrolect
(C) Basilect (D) Mesolect

Assertion (A) : Sociolinguistics is
the study of language in
relation to society and culture.

Reason (R) Communicative
competence and ethnography
of  communication  which
belong to sociolinguistics are
similar notions.

Codes :

(A) Both (A) and (R) are true.

(B) (A)istrue, (R) is false.

(C) (A)isfalse, (R) is true.

(D) Both (A) and (R) are false.

Identify the odd item from the

following list :

(A) Lexeme (B) Word

(C) Morpheme (D) Diglossia

The book ‘verbal behaviour’ was

written by B.F. Skinner in the year of

(A) 1967 (B) 1957

(C) 1977 (D) 1947
S-31-13



35. — | = AR g - 1"
o T ST Fe H GerFar 9 Wl
ﬁ?ﬂe{:
= - | = - 1
a. EMERR Q. TR v & AR
g1kl T UF AT TH
AfYes @Al & AT
b. maur i, fHE W & AR
g1kl T UF AT TH G
AT @ & AT
c. - ii.fedr s H a9
o T 1 Uk 4 AT
' A T AT
d. S=ROTH v, HEH GHET T
THTHA IR %
AT W TH IWT
AT & ST € |
F
oa boc d
A) i i ii v
B) iii i i iv
C) iv i Qi i
D I 1] i v
36. UW @ uien, e R e @
I AT TR AT B A F AR B
. foram & ST €, W whed €
(A) wﬁw (B) famdm
(D) <
37. | & AT g — 1 ¥ gufera
%W%mmwaﬁmﬁ
H%“rwqﬁf

a.
b. etfufafela
c. o
d.  FHE
B :

‘ a b
A I 1
B) iv ii
C) iii i
D i [
S-31-13

iii. freht o o e A
T I1 U 9 ATF
& T AT

iv. T WHHes Jish,
S99 T @ A0
epeadr & w9
AT & STl ¢ |

C
il
i
1
iii

d
iv
|

iv
v

38.

39.

40.

41.

42.

gt — | wf W] @ g — 11§ gAferd

HIST AT A KT T F2 § HEl S
HT T DT ;
= - | =t - 1
a. T A URGS i, ST T
b. T H oo i, JoTfet
AT
C. TR | A1 TIRGRIGES
CIEIERIE]

d. T O AR v, TR
GoraTRd IRad CIEICRIE]

% :

(=N

a b c d

(A Qi ivoi i
B) i i v i

©) i v i

O) iv i i il

Vg, fSTeR1 9AT it ST ufdited
T o feru fomam S &

(A) drelt (B) == wiftrht

(C) aarwme (D) Ted sy

Afpe (A) : FHINS AT,
TSt 3R GHd o G § 9T
T AT |

A% (R) : TUYOT HT &THAT 3T TUTUT Y
IR, St guS WigeE %
IO 9 ¥ e T ¥ |

ETE

(A) (A) 3R (R) I W& € |

(B) (A) W& E, (R) T & |

(C) (A) T e, (R) e |

(D) (A) 3R (R) I ToId € |

frfafed gt @ a9at 78 & TeaH
FHITT

(A) wif=H (B) =

(C) whm (D) fgierepar

‘T TRER Ame g SLUw.
femrt 3 FEfafea § 9 g av o
o 2

(A) 1967 (B) 1957

C) 1977 (D) 1947
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43.

44,

45.

oo o

Match the items in List — | with
List — Il and select the correct answer
from the codes given below :

List—1 List— 11
a. BellR. I. Sociolinguistics,
1974
b. Hudson R.A ii. Sociolinguistics,
1976
Pride J.B. and J. iii. Sociolinguistics,
Holmes (eds) 1980
d. Trudgill. P. iv. Sociolinguistics,
1972
Codes :
a b C d
(A) i 0\ i iii
(B) ii i iv i
(C) iii i iv i
(D) iv i ii iii

Match the items in List — | with those

in List — Il and select the correct
answer from the codes given below :
List—1 List— 11

Logographic i. Morpheme/word
Alphabetic ii. Syllable
Syllabic iii. Sound
Pictographic iv. Picture
Codes :

a b C d
(A) i i iv il
(B) iv i i iii
) i iii i 1\
(D) iii v [ ii

A satem language is
(A) Bulgarian

(B) Welsh

(C) Portuguese
(D) Flemish

46.

47.

48.

49.

50.

When a message engages the
addressee directly as illustrated in
vocatives, and optatives, it is known
as
(A)
(B)
©)
(D)

Conative function
Emotive function
Referential function
Poetic function

Assertion | : The speech of a single
individual is an idiolect.

Assertion Il : Any regionally or
socially distinct variety of a
language is a dialect.

Codes :

(A) Both (1) and (I1) are true.

(B) Both (I) and (I1) are false.

(C) (1) istrue and (1) is false.

(D) (I)isfalse and (I1) is true.

Identify the odd one from the
following :
(A) Pragmatics
(C) Clitics

(B) Semantics
(D) Semiotics

Study of the interpretation of sign is
(A) Emotive (B) Semiotic
(C) Phatic (D) Conative

Match the items in List — | with List
— Il and select the correct answer
from the codes given below :

Paper-I1
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List—1 List—11
a. with him i. nominative
b. he ii. sociative
c. his iii. dative
d. towhom iv. genitive
Codes :
a b c d
(A) i iv i i
(B) iv i i iii
C) i i iv i
(D) i iii iv i
S-31-13



46.

47.

48.

49.

50.

et fohddl St o Hetee 3R g=reie o
TR & €T H Y G197 3 e € o
T FEd©

(A) TeraTeas U

(B) erTIcH U

(C) W& wr

(D) IATHE U

AW | : TRl T AR H % TH
e A & |

AT |1 T T B o ST A
ST fovseh YR Ueh et € |

C T4

(A) (1) 3R (1) T &I & |

(B) (1) 3R (II) THI T & |

(C) () W& & R (1) Tord & |

(D) (1) et & TR (1) T& & |

fr=tefad & faud =t ggane
(A) TFawEm  (B) FF 95w
©€) 3™ (D) ekt formm
Tehd i AT T 31T &
(A) TerTcAS (B) Gehdias=
(C) I (D) REEI:ED
gt — | & w_Y @ g — 11§ gAferd
HIT AR A T T Fe T W IW
T T HINT

= - | =it - 11
a. STH Ay MELEED
b. @& ii. 9garash
C. 3HH iii. SIS
d. fege iv, GIIHRE
_—

a b c d
(A) i \Y; iii i
(B) iv i i iii
(C) ii i iv iii
(D) i iii iv i

43. gt — | & TR B gA - || F gAfeq
HINTT T2 e ST 7T e 1 Fer |
Wfﬁﬁq:

e - | =t - 11
a. I AR, i, WiEATATaREHY,
1974
b. gEaq i, SifeAiciaiesd,
AT, 1976
c. WRS S iii. Hitfaiaiesy,
3T, 1980
FJIgare)
(TEl)
d. %@ﬁﬁlﬁ. iv. Qifaaaiesa,
1972
FT
a b c d
(A i v i i
B) i i v i
©) i i v i
O) v i i i

44, A — | w WS ® gA - 1| T gAfed
FHISTT T e ST TC F =l TerFar 9
3T JIT

=it - | =t - 1
a. % o oied i BT v
b. avTsHHEER i, a7
C. MR . &=
c. ToedE VAGE]
FT

a b c d
(A @i i v i
B) v i i i
€ i i i v
D) iii v i i

45, I 9o &

(A) TR (B) dowt
(C) yamedt (D) it
S-31-13
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